
MATHS

BOOKS - S CHAND MATHS (ENGLISH)

TRIGONOMETRICAL FUNCTIONS

Examples

1. Prove that .

Watch Video Solution

cos4 A − sin4 A = cos2 A − sin2 A

2. Prove that .(1 + tan A)
2

+ (1 − tan A)
2

= 2 sec2 A

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_TyPyxQSiEd92
https://dl.doubtnut.com/l/_WRDZcd3Of1e3


Watch Video Solution

3. Prove that 

Watch Video Solution

cot4 θ + cot2 θ = cosec4θ − cosec2θ

4. Show that .

Watch Video Solution

=
sec A + tan A

cosec A+cot A

cosec A−cot A

sec A − tan A

5. Prove that 

Watch Video Solution

= (sec θ + tan θ)21 + sin θ

1 − sin θ

https://dl.doubtnut.com/l/_WRDZcd3Of1e3
https://dl.doubtnut.com/l/_IvZvzASOshRW
https://dl.doubtnut.com/l/_okiVv73Lyd9k
https://dl.doubtnut.com/l/_BDHHmuCkAcfJ
https://dl.doubtnut.com/l/_r8MOTNXQZmFG


6. If , in which quadrant does  lie ?

Watch Video Solution

cos θ =
−5
12

θ

7. If , in which quadrant does  lie ?

Watch Video Solution

tan θ =
4
3

θ

8. The following equations are impossible : 

. Why ?

Watch Video Solution

sin θ = − 3,     cos θ = ,   cosecθ = ,    secθ =
5

4

3

4
−4
5

https://dl.doubtnut.com/l/_r8MOTNXQZmFG
https://dl.doubtnut.com/l/_8LgAzU5UhzoM
https://dl.doubtnut.com/l/_GWurVHRRlJZ8


9. The cosecant of a certain angle is . Evaluate other t-

ratios of this angle.

Watch Video Solution

13

12

10. If  and  lies in the fourth quadrant, find

the value of .

Watch Video Solution

cos α =
5

13
α

2 − 3 cot α

4 − 9√sec2 α − 1

11. Verify : 

Watch Video Solution

sin2 θ + cos2 θ = 1   if θ = 30∘ ,

https://dl.doubtnut.com/l/_kGJES3Jp7Lmt
https://dl.doubtnut.com/l/_EOTvVxnudQO4
https://dl.doubtnut.com/l/_1rpq0zEIIXma


12. Verify : 

Watch Video Solution

sec2 θ = 1 + tan2 θ  if θ = ,
π

4

13. Verify : 

.

Watch Video Solution

cosec α = 1 + cot2 α  if α =
π

3

14.  


.

Watch Video Solution

sin 115∘ = sin(90∘ + 25∘ ) = cos 25∘ = 0.9063.

cos 134∘ = cos(90∘ + 44∘ ) = − sin 44∘ = − 0.6947

https://dl.doubtnut.com/l/_1DlSAwQlmXH0
https://dl.doubtnut.com/l/_4lN6GBfWu0Ho
https://dl.doubtnut.com/l/_ktlUjDpSJ67P


15.  


 


Watch Video Solution

sin 120∘ = sin(180∘ − 60∘ ) = sin 60∘ =
√3

2

cos 150∘ = cos(180∘ − 30∘ ) = − cos 30∘ =
−√3

2

tan 172∘ = tan(180∘ − 8∘ ) = − tan 8∘ = − 0.1405

16.  


 


.

Watch Video Solution

sin 225∘ = sin(180∘ + 45∘ ) = − sin 45∘ = −
1

√2

cos 246∘ = cos(180∘ + 66∘ ) = − cos 66∘ = − 0.4067

tan 211∘ = tan(180∘ + 31∘ ) = tan 31∘ = 0.6009

17. Find the values of each of the following : 

.tan 225∘ , sin 315∘ , tan( − 1742∘ ), cos( − 1760∘ )

https://dl.doubtnut.com/l/_AFvSaMMno8Vu
https://dl.doubtnut.com/l/_lHI2MWk5HnmQ
https://dl.doubtnut.com/l/_pnbgANhZYDT7


Watch Video Solution

18. Prove that 

Watch Video Solution

tan 225∘ cot 405∘ + tan 765∘ cot 675∘ = 0

19. If , find all the possible values of A

between  and .

Watch Video Solution

tan A = − √3

0∘ 360∘

20. If , determine the sign of .

Watch Video Solution

θ = − 1000∘ θ − cos θ

https://dl.doubtnut.com/l/_pnbgANhZYDT7
https://dl.doubtnut.com/l/_EyF4kffBrm8t
https://dl.doubtnut.com/l/_gWVONhabGMp6
https://dl.doubtnut.com/l/_Jn8A7aZ6Vmn5


21. Find the values of x and y, lying between 0 and 360

which satisfy the equations, 

Watch Video Solution

sin 2x ∘ = 0.6428

22. Find the values of x and y, lying between 0 and 360

which satisfy the equations, 

.

Watch Video Solution

cos( y ∘ + 71∘) = − 0.3420
1

2

23. In what quadrant does an angle lie if 

(a) its sine is positive and its cosine is negative ? 

https://dl.doubtnut.com/l/_znes3K9sH9pz
https://dl.doubtnut.com/l/_OsM8si1iAHQl
https://dl.doubtnut.com/l/_iIKzypVp8NUP


(b) Its tangent positive and its sine is negative ? 

(c ) its cosine is positive and its tangent is negative ? 

(d) its sine is negative and its cosine is positive ?

Watch Video Solution

24. Which is greater and why ? 

 or 

Watch Video Solution

sin 55∘ cos 55∘

25. Which is greater and why ? 

 or 

Watch Video Solution

sin 30∘ cos 30∘

https://dl.doubtnut.com/l/_iIKzypVp8NUP
https://dl.doubtnut.com/l/_8KOcJrECA4pe
https://dl.doubtnut.com/l/_tazRLzkeoW7c


26. Which is greater and why ? 

 or 

Watch Video Solution

sin 40∘ cos 50∘

27. Is it possible to construct an angle whose sine  ?

Watch Video Solution

=
4
3

28. Is it possible to construct an angle whose cosine

 ?

Watch Video Solution

= 5.7

https://dl.doubtnut.com/l/_k3A1o4t0IBnI
https://dl.doubtnut.com/l/_4wYOQfcpirbl
https://dl.doubtnut.com/l/_5tSfSWpGuMNI
https://dl.doubtnut.com/l/_WVNZFgwffEMo


29. Is it possible to construct an angle whose secant

 ?

Watch Video Solution

=
3

7

30. Is it possible to construct an angle whose cosecant

 ?

Watch Video Solution

=
1

2

31. Prove that 

Watch Video Solution

tan θ tan(90∘ − θ) = 1

https://dl.doubtnut.com/l/_WVNZFgwffEMo
https://dl.doubtnut.com/l/_PRqckZ9EAfqV
https://dl.doubtnut.com/l/_e7qWuvNxCFvG
https://dl.doubtnut.com/l/_k6UyYhtSr95B


32. Prove that 

Watch Video Solution

sin θ cos(90∘ − θ) = sin2 θ

33. Prove that 

Watch Video Solution

= 1
sin 18∘

cos 72∘

34. Prove that 

Watch Video Solution

= 1
sec 35∘

cosec 55∘

https://dl.doubtnut.com/l/_k6UyYhtSr95B
https://dl.doubtnut.com/l/_CwUWaG0Bm868
https://dl.doubtnut.com/l/_lZOMAElcXuHp
https://dl.doubtnut.com/l/_f1WqZLbloQh4


35. Prove that 

Watch Video Solution

= 1
tan 75∘

cot 15∘

36. Prove that 

Watch Video Solution

sin2 47∘ + sin2 43∘ = 1

37. Prove that 

.

Watch Video Solution

sec2 33∘ − cot2 57∘ = 1

https://dl.doubtnut.com/l/_f1WqZLbloQh4
https://dl.doubtnut.com/l/_PDVU7edfTv4t
https://dl.doubtnut.com/l/_YpK2vmluNvin


Exercise 4 A

38. If AB, AC are equal sides of an isosceles triangle, prove

that .

Watch Video Solution

tan = cot B
A

2

1. Prove that 

Watch Video Solution

1 − cos2 θ = sin2 θ

2. Prove that 

.√1 − sin2 θ = cos θ

https://dl.doubtnut.com/l/_QqAayuh5ei26
https://dl.doubtnut.com/l/_3HhSdN4ASXRr
https://dl.doubtnut.com/l/_SiOQLt0SSWEx


Watch Video Solution

3. Prove that 

Watch Video Solution

sec α√1 − sin2 α = 1

4. Prove that 

Watch Video Solution

= 1
sec2 θ − 1

tan2 θ

5. Prove that 

sec2 θ − 1 − tan2 θ = 0

https://dl.doubtnut.com/l/_SiOQLt0SSWEx
https://dl.doubtnut.com/l/_el28Z89L3qVV
https://dl.doubtnut.com/l/_HUBg4LJXpHhx
https://dl.doubtnut.com/l/_EzVzvpDtE2xv


Watch Video Solution

6. Prove that 

Watch Video Solution

= 1
sin2 θ + cos2 θ

sec2 θ − tan2 θ

7. Prove that 

Watch Video Solution

1 − cos2 θ − sin2 θ = 0

8. Prove that 

sin4 θ + sin2 θ cos2 θ = sin2 θ

https://dl.doubtnut.com/l/_EzVzvpDtE2xv
https://dl.doubtnut.com/l/_FXKQLgniYir3
https://dl.doubtnut.com/l/_2xeUTiYJmSTk
https://dl.doubtnut.com/l/_e0XzMrGfH1Wv


Watch Video Solution

9. Prove that 

Watch Video Solution

sin4 θ + 2 sin2 θ cos2 θ + cos4 θ = 1

10. Prove that 

.

Watch Video Solution

cos2 θ(cosec2θ − cot2 θ) = cos2 θ

11. Prove that 

= 1
sin θcosecθ tan θ cot θ

sin2 θ + cos2 θ

https://dl.doubtnut.com/l/_e0XzMrGfH1Wv
https://dl.doubtnut.com/l/_uM6J3s96IRqF
https://dl.doubtnut.com/l/_r8lsjeEGXAAH
https://dl.doubtnut.com/l/_Lj5xo75sjVaQ


Watch Video Solution

12. Prove that 

Watch Video Solution

= 1
sin2 30∘ + cos2 30∘

sec2 57∘ − tan2 57∘

13. Prove that 

Watch Video Solution

cos A tan A = sin A

14. Prove that 

sin4 Acosec2A + cos4 A sec2 A = 1

https://dl.doubtnut.com/l/_Lj5xo75sjVaQ
https://dl.doubtnut.com/l/_vS7LOEnoCEXG
https://dl.doubtnut.com/l/_ObAVbHf4A285
https://dl.doubtnut.com/l/_kWw4ynI05cG2


Exercise 4 B

Watch Video Solution

15. Prove that 

.

Watch Video Solution

sin2 A cot2 A + cos2 A tan2 A = 1

1. Prove that 

Watch Video Solution

sec θ cot θ = cosecθ

https://dl.doubtnut.com/l/_kWw4ynI05cG2
https://dl.doubtnut.com/l/_Sa2z2WeZqV3J
https://dl.doubtnut.com/l/_ikSEtdKlyK0M
https://dl.doubtnut.com/l/_fiZrpyn9gFOT


2. Prove that 

.

Watch Video Solution

tan θ + cot θ = sec θ cos ecθ

3. Prove that 

.

Watch Video Solution

= 1 + sin θ
cos θ

sec θ − tan θ

4. Prove that 

Watch Video Solution

= cot θ
1 + cos θ − sin2 θ

sin θ(1 + cos θ)

https://dl.doubtnut.com/l/_fiZrpyn9gFOT
https://dl.doubtnut.com/l/_bzVLybYZcyG6
https://dl.doubtnut.com/l/_eMEb2uTRyUSM
https://dl.doubtnut.com/l/_MM1HFul3L6yB


5. Prove that 

Watch Video Solution

= 3 − tan2 θ
3 − 4 sin2 θ

cos2 θ

6. Prove that 

Watch Video Solution

(tan A + cot A)sin A × cos A = 1

7. Prove that 

Watch Video Solution

cos A = =  (A ∈  III  quad.)
cot A

cosec A

cot A

√(1 + cot2 A)

https://dl.doubtnut.com/l/_MM1HFul3L6yB
https://dl.doubtnut.com/l/_lZYItExZWvZm
https://dl.doubtnut.com/l/_axKvdcyIwom8


8. Prove that 

.

Watch Video Solution

sin4 θ − cos4 θ = sin2 θ − cos2 θ

9. Prove that 

.

Watch Video Solution

sec2 A + cosec2A = sec2 Acosec2A

10. Prove that 

.

Watch Video Solution

sin3 θ + cos3 θ = (sin θ + cos θ)(1 − sin θ cos θ)

https://dl.doubtnut.com/l/_NBoNKxgLomIg
https://dl.doubtnut.com/l/_0MiM8o3pdumu
https://dl.doubtnut.com/l/_5aN8xIeQhknU


11. Prove that 

Watch Video Solution

sin2 ϕ(1 + cot2 ϕ) = 1

12. Prove that 

.
  = 

Watch Video Solution

cos ec2A + sec2 A (tan A + cot A)2

13. Prove that 

.

Watch Video Solution

sec4 A − sec2 A = tan2 A + tan4 A

https://dl.doubtnut.com/l/_CkPCqmWIZ5dy
https://dl.doubtnut.com/l/_jVrwXjnI0A5h
https://dl.doubtnut.com/l/_XpZF9GFGZ3X5


14. Prove that 

Watch Video Solution

(cosec θ − sin θ)(sec θ − cos θ)(tan θ + cot θ) = 1

15. Prove that 

Watch Video Solution

= cot A tan B
cot A + tan B

cot B + tan A

16. Prove that 

.

Watch Video Solution

+ = 2cosec α
sin α

1 + cos α

1 + cos α

sin α

https://dl.doubtnut.com/l/_uZSBvgURrHS9
https://dl.doubtnut.com/l/_2TyCTB0YSAcK
https://dl.doubtnut.com/l/_HcO6fnVNaKkA


17. Prove that 

Watch Video Solution

1 + =
1

cos A

tan2 A

sec A − 1

18. Prove that 

Watch Video Solution

= (cosecA + cot A)
21 + cos A

1 − cos A

19. If  and , show that 

Watch Video Solution

tan θ + sin θ = α tan θ − sin θ = β

α2 − β2 = 4√αβ.     (θ ∈  II or III quad.)

https://dl.doubtnut.com/l/_Y7r0tccBiH2n
https://dl.doubtnut.com/l/_hd9NPvROXaBN
https://dl.doubtnut.com/l/_OQKjTAWDkPdz


Exercise 4 C

1. If , find the values of other t-ratios of .

Watch Video Solution

cot θ =
4
3

θ

2. If , find the value of 

Watch Video Solution

cos A = 0.6 5 sin A − 3 tan A.

3. If , prove that  or 

Watch Video Solution

sin A =
3

5
tan A + = 2

1

cos A
−2

https://dl.doubtnut.com/l/_33zXhyBsc1I8
https://dl.doubtnut.com/l/_IUJZMihZt4qY
https://dl.doubtnut.com/l/_rNfEg7QEAhZN


4. If , find the value of .

Watch Video Solution

tan θ =
1

√7

cosec2θ − sec2 θ

cosec2θ + sec2 θ

5. If , prove that  if  lies

between 0 and . What will be the value of the

expression when  lies (i) between  and  and (ii)

between  and  ?

Watch Video Solution

sin θ =
21

29
sec θ + tan θ = 2

1

2
θ

π

2

θ
π

2
π

π
3π

2

6. If  lies in the second quadrant and , find

the value of .

Watch Video Solution

θ tan θ =
−5

12
2 cos θ

1 − sin θ

https://dl.doubtnut.com/l/_K4h6dHJ5Xj0p
https://dl.doubtnut.com/l/_Y9NNtdP3YNup
https://dl.doubtnut.com/l/_SWaLcV8Y8Ujs


Watch Video Solution

7. If  and  lies in the second quadrant,

find  and .

Watch Video Solution

sin θ sec θ = − 1 θ

sin θ sec θ

8. If A is in the fourth quadrant and , find the

value of .

Watch Video Solution

cos A =
5

13
13 sin A + 5 sec A

5 tan A + 6  cosecA

9. Verify that 

sin 60∘ =
2tan 30∘

1 + tan2 30∘

https://dl.doubtnut.com/l/_SWaLcV8Y8Ujs
https://dl.doubtnut.com/l/_mIOI3UwiFllr
https://dl.doubtnut.com/l/_oWuAcDMQZ9hh
https://dl.doubtnut.com/l/_tV7htfzdICIl


Watch Video Solution

10. Verify that 

Watch Video Solution

cos 60∘ =
1 − tan2 30∘

1 + tan2 30∘

11. Prove that 

.

Watch Video Solution

sec 30∘ tan 60∘ + sin 45∘  cosec 45∘ + cos 30∘ cot 60∘ =
7
2

https://dl.doubtnut.com/l/_tV7htfzdICIl
https://dl.doubtnut.com/l/_SJkTFzRoC3mx
https://dl.doubtnut.com/l/_rUYTzHTZg8ak


Exercise 4 D

12. Prove that 

.

Watch Video Solution

cot2 30∘ + 3 sin2 60∘ − 2  cosec260∘ − tan2 30∘ = 3
4
3

3

4

1

3

1. Express the following as functions of angles less than

 : 


Watch Video Solution

45∘

sin 194∘

https://dl.doubtnut.com/l/_qu7tbgPaMLNv
https://dl.doubtnut.com/l/_QQ8RwzTytEip


2. Express the following as functions of angles less than

 : 


Watch Video Solution

45∘

sin 348∘

3. Express the following as functions of angles less than

 : 


Watch Video Solution

45∘

cos 189∘

4. Express the following as functions of angles less than

 : 
45∘

https://dl.doubtnut.com/l/_lYSwHoOKSvDu
https://dl.doubtnut.com/l/_KvNN2Q0IQ3x6
https://dl.doubtnut.com/l/_NVwud1rvh7Tu


Watch Video Solution

sin( − 1785∘ )

5. Express the following as functions of angles less than

 : 


Watch Video Solution

45∘

tan(3598∘ )

6. Express the following as function of angle less than 

: 

Watch Video Solution

45∘

cot( − 1952∘ )

https://dl.doubtnut.com/l/_NVwud1rvh7Tu
https://dl.doubtnut.com/l/_Yd6I97pV6IXp
https://dl.doubtnut.com/l/_of1B56CqFsEQ


7. Express the following as functions of angles less than

 : 


.

Watch Video Solution

45∘

cosec( − 7498∘ )

8. Without using tables, give the value of each of the

following : 

Watch Video Solution

sin 120∘

9. Without using tables, give the value of each of the

following : 

https://dl.doubtnut.com/l/_javiHSoqrrpw
https://dl.doubtnut.com/l/_WNYqgsucumQP
https://dl.doubtnut.com/l/_AIWhmc4Ouyrh


Watch Video Solution

cos 330∘

10. Without using tables, give the value of each of the

following : 

Watch Video Solution

sec 210∘

11. Without using tables, give the value of each of the

following : 

Watch Video Solution

cos 315∘

https://dl.doubtnut.com/l/_AIWhmc4Ouyrh
https://dl.doubtnut.com/l/_X9qqPDmCuzNh
https://dl.doubtnut.com/l/_vCSCIAB814tD


12. Without using tables, give the value of each of the

following : 

Watch Video Solution

cosec 675∘

13. Without using tables, give the value of each of the

following : 

Watch Video Solution

cos 855∘

14. Without using tables, give the value of the following : 

sin 4530∘

https://dl.doubtnut.com/l/_le35WTQC9JR8
https://dl.doubtnut.com/l/_gHwzD14FoFjq
https://dl.doubtnut.com/l/_Pj4im43WNT5N


Watch Video Solution

15. Without using tables, give the value of the following : 

Watch Video Solution

sec
15π

4

16. With the help of tables, find the values, correct to

places of decimals, of each of the following : 

Watch Video Solution

cos 116∘

https://dl.doubtnut.com/l/_Pj4im43WNT5N
https://dl.doubtnut.com/l/_vizqfFtAtFN4
https://dl.doubtnut.com/l/_u2Ojow9LdWin


17. With the help of tables, find the values, correct to

places of decimals, of each of the following : 

Watch Video Solution

sin 267∘

18. With the help of tables, find the values, correct to

places of decimals, of each of the following : 

Watch Video Solution

sin( − 263∘ )

19. With the help of tables, find the values, correct to

places of decimals, of each of the following : 

https://dl.doubtnut.com/l/_J14ofv8xnDkl
https://dl.doubtnut.com/l/_afJzOYhsITuF
https://dl.doubtnut.com/l/_DVQI5CSzkhKX


Watch Video Solution

cos 280∘ 10'

20. With the help of tables, find the values, correct to

places of decimals, of each of the following : 

.

Watch Video Solution

tan(2015∘ 24' )

21. Find the value of

Watch Video Solution

sin 750∘ cos 300∘ + cos 1470∘ sin( − 1020∘ )

https://dl.doubtnut.com/l/_DVQI5CSzkhKX
https://dl.doubtnut.com/l/_cLcbhskjYdCp
https://dl.doubtnut.com/l/_kyaviyfzSzTD
https://dl.doubtnut.com/l/_9vQpjqDo8B8e


22. Evaluate  when .

Watch Video Solution

,
cos 3θ − 2 cos 4θ

sin 3θ + 2 sin 4θ
θ = 150∘

23. Simplify : 

Watch Video Solution

cos( − θ)

sin(90∘ + θ)

24. 

Watch Video Solution

tan( − θ)

sin(540∘ + θ)

25. .

W t h Vid S l ti

sin(90∘ − θ)sec(180∘ − θ)sin( − θ)

sin(180∘ + θ)cot(360∘ − θ)cosec(90∘ + θ)

https://dl.doubtnut.com/l/_9vQpjqDo8B8e
https://dl.doubtnut.com/l/_voWXMUMfXafM
https://dl.doubtnut.com/l/_Bbkkeyb66mHM
https://dl.doubtnut.com/l/_9WcpYLWkII2Y


Watch Video Solution

26. 

Watch Video Solution

sin 150∘ − 5cos 300∘ + 7tan 225∘

tan 135∘ + 3sin 210∘

27. If , find a value of .

Watch Video Solution

sin(7ϕ + 9∘ ) = cos 2ϕ ϕ

28. Find the values of  lying between  and  when 


Watch Video Solution

θ 0∘ 360∘

sin θ =
1

2

https://dl.doubtnut.com/l/_9WcpYLWkII2Y
https://dl.doubtnut.com/l/_k7wtqQHj890W
https://dl.doubtnut.com/l/_51rH4RaIEXKB
https://dl.doubtnut.com/l/_RDrOt8UR1ka3
https://dl.doubtnut.com/l/_bfiV6Su098AA


29. Find the values of  lying between  and  when 


Watch Video Solution

θ 0∘ 360∘

tan θ = − 1

30. Find the values of  lying between  and  when 


Watch Video Solution

θ 0∘ 360∘

sec θ = − 2

31. Find the values of  lying between  and  when 


Watch Video Solution

θ 0∘ 360∘

sin θ = sin 21∘

https://dl.doubtnut.com/l/_bfiV6Su098AA
https://dl.doubtnut.com/l/_lQ8CayoquBGk
https://dl.doubtnut.com/l/_EvwL4QDZ2PUB


32. Find the values of  lying between  and  when 


Watch Video Solution

θ 0∘ 360∘

tan θ = − 2.0145

33. Find the values of  lying between  and  when 


Watch Video Solution

θ 0∘ 360∘

sin θ = cos 317∘

34. Find the values of  lying between  and  when 


.

Watch Video Solution

θ 0∘ 360∘

cos θ = sin 285∘

https://dl.doubtnut.com/l/_cSz3hlian6Md
https://dl.doubtnut.com/l/_9k2oji1EZxmu
https://dl.doubtnut.com/l/_m8MDFedX991r


35. If  and  find the values of 

Watch Video Solution

0∘ < θ < 90∘ cos θ =
4
5

cos(90∘ + θ)

36. If  and  find the values of 

Watch Video Solution

0∘ < θ < 90∘ cos θ =
4

5

cosec(180∘ + θ)

37. If  and  find the values of 

Watch Video Solution

0∘ < θ < 90∘ cos θ =
4

5

tan(360∘ − θ)

https://dl.doubtnut.com/l/_FnUnnX298Qss
https://dl.doubtnut.com/l/_FNxzRdpBA2JT
https://dl.doubtnut.com/l/_sCQRAuddW4Vp


38. If  and  find the values of 

Watch Video Solution

0∘ < θ < 90∘ cos θ =
4
5

sin(270∘ − θ)

39. Find six angles for which .

Watch Video Solution

sin θ = −
√3

2

40. Find all the angles between  and  whose

tangent is .

Watch Video Solution

0∘ 720∘

−
1

√3

https://dl.doubtnut.com/l/_y1uxUG5tGFdR
https://dl.doubtnut.com/l/_2TLFqNKIp0Yq
https://dl.doubtnut.com/l/_UseSz7AAvVec
https://dl.doubtnut.com/l/_YZ87jPnSKM0s


41. Find the values of  between  and  which

satisfy the equations 

Watch Video Solution

θ 0∘ 360∘

sin2 θ =
3

4

42. Find the values of  between  and  which

satisfy the equations 

.

Watch Video Solution

θ 0∘ 360∘

cos 2θ =
1

2

43. If , when  lies between  and , write

down the possible values of  and .

tan θ = 0.4 θ 0∘ 360∘

θ sin θ

https://dl.doubtnut.com/l/_YZ87jPnSKM0s
https://dl.doubtnut.com/l/_FN1ADCGJKQkK
https://dl.doubtnut.com/l/_ln1M25SM72cr


Watch Video Solution

44. If , find the possible values of x

between  and .

Watch Video Solution

cos x ∘ = sin 200∘

−180∘ 360∘

45. If A,B,C are angles of a triangle, prove that 

.

Watch Video Solution

cos C = − cos(A + B)

46. If A,B,C are angles of a triangle, prove that 

.tan = cot
B + C

2
A

2

https://dl.doubtnut.com/l/_ln1M25SM72cr
https://dl.doubtnut.com/l/_vYgBuGM1Oa99
https://dl.doubtnut.com/l/_23MCvTxrO8Bh
https://dl.doubtnut.com/l/_4A4WVPN6P5B4


Chapter Test

Watch Video Solution

47. If A,B,C are angles of a triangle, prove that 

.

Watch Video Solution

= 1
tan(B + C) + tan(C + A) + tan(A + B)

tan(π − A) + tan(2π − B) + tan(3π − C)

48. If A,B,C,D are the angles of a quadrilateral, prove that

.

Watch Video Solution

cos (A + B) + cos (C + D) = 0
1

2

1

2

https://dl.doubtnut.com/l/_4A4WVPN6P5B4
https://dl.doubtnut.com/l/_KhvMXiu8o2cp
https://dl.doubtnut.com/l/_dBIa22u4J1uO


1. If , find the value of  where

A lies in the first quadrant.

Watch Video Solution

cot A =
3

4
3 cos A + 5 sin A,

2. If  find the values of  and 

.

Watch Video Solution

cos 120∘ =
−1

2
sin 120∘

tan 120∘

3. Prove that 

Watch Video Solution

sec( − 1680∘ ). sin 330∘ = 1

https://dl.doubtnut.com/l/_zjLDD4gNRFLZ
https://dl.doubtnut.com/l/_bN1APxynjAlV
https://dl.doubtnut.com/l/_2AVlQkUzeQEo
https://dl.doubtnut.com/l/_S7gEJ1ydXfb7


4. If A,B,C,D are the angles of a cyclic quadrilateral, show

that 

Watch Video Solution

cos A + cos B + cos C + cos D = 0

5. If , prove that 

.

Watch Video Solution

tan 25∘ = a

=
tan 155∘ − tan 115∘

1 + tan 155∘ tan 115∘

1 − a2

2a

6. If A,B,C be the angles of a triangle, prove that

Watch Video Solution

= − 1
sin(B + C) + sin(C + A) + sin(A + B)

sin(π + A) + sin(3π + B) + sin(5π + C)

https://dl.doubtnut.com/l/_S7gEJ1ydXfb7
https://dl.doubtnut.com/l/_fJsxHtosdTEB
https://dl.doubtnut.com/l/_iu6Pv8Fuuuxd
https://dl.doubtnut.com/l/_gE6Iq911g2FT


7. Prove that .

Watch Video Solution

+ = 2 sec θ
cos θ

1 − sin θ

1 − sin θ

cos θ

8. If  and , find the value of 

.

Watch Video Solution

sec θ = √2 < θ < 2π
3π

2
1 + tan θ + cosecθ

1 + cot θ − cosecθ

https://dl.doubtnut.com/l/_gE6Iq911g2FT
https://dl.doubtnut.com/l/_E5ln3d5QmOJI

